

August 22nd, 2023

Northwest Lakewood Sanitation District 141 Union Boulevard, Suite 150 Lakewood, Colorado 80228-1556

Attn: Board of Directors

Re: NWLSD – 2023 Sanitary Sewer Improvements – Contractor Recommendation

Project Number: 17.0638.C.10

Dear Board,

Martin/Martin, Inc. has reviewed the bids submitted on August 22nd, 2023 for the referenced project. A total of two bids were received. The low bidder for the improvements is Insituform Technologies, LLC in the total amount of \$923,564.00. The second low bidder is from Inliner Solutions, LLC (a Puris Company) in the amount of \$1,459,113.00. Insituform Technologies, LLC bid schedule breakdown is as follows: Schedule A (Point Repairs) - \$160,542.00, Schedule B (Full Remove and Replace) - \$55,545.00, and Bid Schedule C (CIPP) - \$707,477.00.

Martin/Martin, Inc. has a history of working with Insituform Technologies, LLC on the 2021/2022 NWLSD CIP and other previous NWLSD projects. All supplied references contacted have stated Insituform Technologies, LLC to be a contractor with work experience relative to the project.

Insituform's excavation subcontractor will be Diamond Contracting Corporation, which has a history of successful projects within the District and is considered a preferred contractor.

At the Board's discretion, Martin/Martin, Inc. recommends award of the NWLSD 2023 Sanitary Sewer Improvements to Insituform Technologies, LLC in the amount of \$923,564.00. If there are any questions or concerns regarding this recommendation, please don't hesitate to contact us.

Sincerely,

Bill Willis, P.E.

Principal

								BIL	TABULATION
PROJ. NAME:	NWLSD 2023 SANITARY SEWER IMPROVEMENTS							Bid Date:	8/22/2023
OWNER:	NORTHWEST LAKEWOOD SANITATION DISTRICT							Project No.:	17.0638.C.10
ENGINEER:	MARTIN/MARTIN, INC.							Prep. By:	AG
								Chk'd By:	BLT
				MARTIN/MARTIN, IN	ıc	INLINER SOLUTIONS	S LLC	INSITUFORM TECH	
				12499 W. Colfax Ave		7915 Cherrywood Loc		17988 Edison Avenue	, -
ĺ				Lakewood, Colorado		Kiowa, Colorado 801		Chesterfield, Missouri	
1				303.431.6100	30210	303.880.4710	11	636.530.8000	100000
	000.451.0100 000.							000.000.000	T
Bid Item	Description	Unit	Quantity	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
	Bid Schedule A (Point Repairs)							1	
A1	B-11R-7-1 to B-11R-7, W 29th PI, Construct new MH			\$62,000.00	\$62,000.00				
A1a	Construct new 4' Dia Manhole with cast in place base	LS	1			\$53,000.00	\$53,000.00	\$25,654.00	\$25,654.00
A1b	Remove/Replace Asphalt Pavement	LS	1			\$4,600.00	\$4,600.00	\$5,800.00	\$5,800.00
A1c	Import Fill (if required)	LS	1			\$7,500.00	\$7,500.00	\$3,379.00	\$3,379.00
A1d	Trench Stabilization (if required)	LS	1			\$7,500.00	\$7,500.00	\$1,349.00	\$1,349.00
A1e	Cutoff Wall (if required)	EA	1			\$5,250.00	\$5,250.00	\$4,241.00	\$4,241.00
A1f	Bypass Pumping	LS	1			\$15,500.00	\$15,500.00	\$1,677.00	\$1,677.00
A1g	Traffic Control	LS	1			\$7,500.00	\$7,500.00	\$2,259.00	\$2,259.00
A2	B-11R-7-2 to B-11R-7-1, W 29th PI, (1) 10' and (1) 5' point repair			\$60,770.00	\$60,770.00				
A2a	10' Point Repair: 159-169 LF (0 Services)	LF	10			\$2,500.00	\$25,000.00	\$1,613.00	\$16,130.00
A2b	5' Point Repair: 262-267 LF (0 Services)	LF	5			\$3,750.00	\$18,750.00	\$840.00	\$4,200.00
A2c	Remove/Replace Asphalt Pavement	LS	1			\$7,500.00	\$7,500.00	\$5,646.00	\$5,646.00
A2d	Import Fill (trench width, if required)	LF	15	1	+	\$375.00	\$5,625.00	\$173.00	\$2,595.00
A2e	Trench Stabilization (if required)	LF	15	†	+	\$375.00	\$5,625.00	\$142.00	\$2,130.00
A2f	Cutoff Wall (if required)	EA	1		_	\$5,250.00	\$5,250.00	\$4,249.00	\$4,249.00
A2g	Bypass Pumping	LS	1 1	+		\$5,250.00	\$5,250.00	\$3,354.00	\$3,354.00
A29 A2h	Traffic Control	LS	1 1	-	_	\$5,250.00	\$5,250.00	\$3,584.00	\$3,584.00
A211	B-11R-7-2-1 to B-11R-7-2, W 29th PI, 6' point repair		 '	\$62,000.00	\$62,000.00	φ5,250.00	\$5,250.00	φ3,504.00	\$3,304.00
A3 A3a	Point Repair: 124 to 130 LF (1 Service)	LF	6	\$02,000.00	\$02,000.00	\$6,000.00	\$36,000.00	\$2,648.00	\$15,888.00
A3b	Landscape retoration	LS	1	-		\$5,250.00	\$5,250.00	\$6,704.00	\$15,888.00
A3b A3c	Import Fill (trench width, if required)	LF	6	-		\$5,250.00	\$5,250.00	\$222.00	\$0,704.00
A3c A3d	Trench Stabilization (if required)	LF	6	!					
				-		\$752.00	\$4,512.00	\$225.00	\$1,350.00
A3e	Cutoff Wall (if required)	EA LS	1 1	-		\$5,250.00	\$5,250.00	\$4,241.00	\$4,241.00
A3f	Bypass Pumping		1 1	_		\$3,750.00	\$3,750.00	\$1,677.00	\$1,677.00
A3g	Traffic Control	LS	1	242,000,00	212 000 00	\$3,750.00	\$3,750.00	\$1,623.00	\$1,623.00
A4	BF-17, Clear Creek Dr, Raise Manhole to Grade			\$40,000.00	\$40,000.00	112 500 00	112.500.00	40:74400	20174400
A4a	Point Repair: Raise existing manhole to grade	LS	1 1			\$42,500.00	\$42,500.00	\$21,714.00	\$21,714.00
A4b	Landscape restoration and protection	LS	1			\$7,500.00	\$7,500.00	\$7,888.00	\$7,888.00
A4c	Import Fill (if required)	LS	1			\$7,500.00	\$7,500.00	\$1,810.00	\$1,810.00
A4d	Trench Stabilization (if required)	LS	1			\$7,500.00	\$7,500.00	\$1,349.00	\$1,349.00
A4g	Traffic Control	LS	1			\$7,500.00	\$7,500.00	\$3,584.00	\$3,584.00
A5	P-11, Orchard St, Shim MH Ring and Cover			\$4,000.00	\$4,000.00				
A5a	Point Repair: Shim MH Ring and cover to raise to grade	LS	1			\$2,250.00	\$2,250.00	\$1,917.00	\$1,917.00
A5b	Remove/Replace Asphalt Pavement	LS	1			\$752.00	\$752.00	\$2,284.00	\$2,284.00
A5c	Traffic Control	LS	1			\$1,500.00	\$1,500.00	\$934.00	\$934.00
	Sub-Total A			1	\$228,770.00		\$319,126.00		\$160,542.00
						7		7	
	Bid Schedule B (Full Remove and Replace)	-		†	+	+	+	+	1
B1	B-11R-7-3 to B-11R-7-2, W 29th PI - 6" Line, 1 service		†	\$48,225.00	\$48,225.00	+	+	+	+
B1a.	Full Remove and Replace 63 LF 6" PVC, 1 service Reconnection	LS	1	Ψ10,220.00	Ψ10, <u>22</u> 0.00	\$80,000.00	\$80,000.00	\$9,533.00	\$9,533.00
B1b.	Remove/Replace Asphalt Pavement	LS	1 1	+		\$15,000.00	\$15,000.00	\$14,009.00	\$14,009.00
B10.	Import Fill (trench width, if required)	LF	63	+	+	\$375.00	\$13,000.00	\$278.00	\$17,514.00
B1d.	Trench Stabilization (if required)	LF	63	+	+	\$375.00	\$23,625.00	\$47.00	\$2,961.00
	Cutoff Wall (if required)	EA	1 00	-		\$5,250.00		\$4,280.00	
B1e.			1 1	_			\$5,250.00	· ' '	\$4,280.00
B1f.	Bypass Pumping	LS	1 1	_		\$15,000.00	\$15,000.00	\$4,706.00	\$4,706.00
B1g.	Traffic Control	LS	 1	 		\$15,000.00	\$15,000.00	\$2,542.00	\$2,542.00
	Sub-Total B		1		\$48,225.00		\$177,500.00		\$55,545.00

	BID TABULATION								
PROJ. NAME:	NWLSD 2023 SANITARY SEWER IMPROVEMENTS							Bid Date:	8/22/2023
OWNER:	NORTHWEST LAKEWOOD SANITATION DISTRICT							Project No.:	17.0638.C.10
ENGINEER:	MARTIN/MARTIN, INC.							Prep. By:	AG
								Chk'd By:	BLT
				MARTIN/MARTIN, IN		INLINER SOLUTION		INSITUFORM TECH	
		12499 W. Colfax Avenue		7915 Cherrywood Loop		17988 Edison Avenue			
			Lakewood, Colorado 80215		Kiowa, Colorado 80117		Chesterfield, Missouri 63005		
				303.431.6100		303.880.4710		636.530.8000	
Did to	Documents of the second of the	11-14	0	Unit But	Fortered and Bode a	Unit Balan	Fortunal and Bullon	Health Berlan	Foton ded Briss
Bid Item	Description	Unit	Quantity	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
04	Bid Schedule C (CIPP)			* 00 400 00	****				
C1 C1a.	C-4A-1 to C-4A, W 27th PI, 8" Line Full Lining - 396 LF (9 Services)	LF	396	\$26,466.00	\$26,466.00	\$71.00	\$28.116.00	\$33.00	¢42.000.00
C1a.	Service Reconnection	EA	9			\$25.00	\$28,116.00	\$99.00	\$13,068.00 \$891.00
C15.	AD-6-3 to AD-6-2, W 29th PI, 8" Line		9	\$20,256.00	\$20,256.00		\$225.00	ψ99.00	\$091.00
C2a.	Full Lining - 303 LF (6 Services)	LF	303	Ψ20,200.00	Ψ20,230.00	\$71.00	\$21,513.00	\$36.00	\$10,908.00
C2b.	Service Reconnection	EA	6			\$25.00	\$150.00	\$107.00	\$642.00
C3	AB-11-3A to AB-11-2A, W 28th Ave, 8" Line			\$18,090.00	\$18,090.00		7.22.22	7.0	77.2.00
C3a.	Full Lining - 271 LF (7 Services)	LF	271	, ,	. ,	\$71.00	\$19,241.00	\$38.00	\$10,298.00
C3b.	Service Reconnection	EA	7			\$25.00	\$175.00	\$102.00	\$714.00
C4	AB-12-2 to AB-12-1, W 27th PI, 8" Line			\$26,260.00	\$26,260.00				
C4a.	Full Lining - 404 LF (8 Services)	LF	404			\$71.00	\$28,684.00	\$33.00	\$13,332.00
C4b.	Service Reconnection	EA	8			\$25.00	\$200.00	\$102.00	\$816.00
C5	ACB-3 to ACB-2, Swadley Dr, 8" Line			\$3,637.00	\$3,637.00			***	
C5a.	Full Lining - 261 LF (4 Services)	LF	261			\$71.00	\$18,531.00	\$39.00	\$10,179.00
C5b.	Service Reconnection	EA	4	#40.000.00	#40 000 00	\$25.00	\$100.00	\$120.00	\$480.00
C6 C6a.	C-6-3-1A to C-6-3-1, W 26th PI, 8" Line Full Lining - 275 LF (7 Services)	LF	275	\$18,906.00	\$18,906.00	\$71.00	¢10 525 00	\$45.00	¢12.275.00
C6a.	Service Reconnection	EA	7			\$25.00	\$19,525.00 \$175.00	\$103.00	\$12,375.00 \$721.00
C7	C-6-3-2 to C-6-3-1, W 26th PI, 8" Line		,	\$21,619.00	\$21,619.00		\$175.00	φ103.00	\$721.00
C7a.	Full Lining - 323 LF (7 Services)	LF	323	Ψ21,019.00	Ψ21,019.00	\$71.00	\$22,933.00	\$41.00	\$13,243.00
C7b.	Service Reconnection	EA	7			\$25.00	\$175.00	\$104.00	\$728.00
C8	C-6-4 to C-6-3, W 27th PI, 8" Line			\$16,972.00	\$16,972.00		4	7.00.00	V. = 0.00
C8a.	Full Lining - 320 LF (7 Services)	LF	320	, ,	. ,	\$71.00	\$22,720.00	\$36.00	\$11,520.00
C8b.	Service Reconnection	EA	7			\$25.00	\$175.00	\$103.00	\$721.00
C9	CM-5 to CM-4, Routt St, 8" Line			\$7,514.00	\$7,514.00				
C9a.	Full Lining - 330 LF (7 Services)	LF	330			\$71.00	\$23,430.00	\$35.00	\$11,550.00
C9b.	Service Reconnection	EA	7			\$25.00	\$175.00	\$104.00	\$728.00
C10	B-11R-28B-1 to B-11R-28B, 8" Line			\$10,790.00	\$10,790.00			***	******
C10a.	Full Lining - 161 LF (1 Service) Service Reconnection	LF EA	161			\$71.00	\$11,431.00	\$61.00	\$9,821.00
C10b.	B-37 to B-36, Willow Ln, 12" Line	EA	1	\$16,896.00	¢16 906 00	\$25.00	\$25.00	\$228.00	\$228.00
C11a.	Full Lining - 141 LF (1 Service)	LF	141	φ10,090.00	\$16,896.00	\$92.00	\$12,972.00	\$96.00	\$13,536.00
C11b.	Service Reconnection	EA	1		1	\$25.00	\$25.00	\$469.00	\$469.00
C12	J-8A to J-8, W 20th Ave, 8" Line		<u> </u>	\$58,000.00	\$58,000.00		Ψ20.00	ψ 100.00	ψ100.00
C12a.	Full Lining - 46 LF (1 Service)	LF	46	+==,000.00	\$55,555.00	\$71.00	\$3,266.00	\$158.00	\$7,268.00
C12b.	Service Reconnection	EA	1			\$25.00	\$25.00	\$212.00	\$212.00
C13	BO-3 to BO-2A, W 16th Dr, 8" Line			\$11,000.00	\$11,000.00				
C13a.	Full Lining - 28 LF (0 Services)	LF	28			\$71.00	\$1,988.00	\$297.00	\$8,316.00
C13b.	Service Reconnection	EA	0			\$25.00	\$0.00	\$0.00	\$0.00
C14	C-2 to C-1A, Quail St, 8" Line			\$19,500.00	\$19,500.00				
C14a.	Full Lining - 298 LF (7 Services)	LF	298			\$71.00	\$21,158.00	\$43.00	\$12,814.00
C14b.	Service Reconnection	EA	7	400		\$25.00	\$175.00	\$103.00	\$721.00
C15	ACB-1 to ACA-1, Swadley Dr, 8" Line		050	\$23,732.00	\$23,732.00		#05 000 00	# 00.00	040.707.00
C15a.	Full Lining - 353 LF (6 Services)	LF.	353			\$71.00	\$25,063.00	\$39.00	\$13,767.00
C15b. C16	Service Reconnection AB-12-3 to AB-12-2, W 27th PI, 8" Line	EA	6	¢16.462.00	¢16 462 00	\$25.00	\$150.00	\$108.00	\$648.00
C16a.	Full Lining - 250 LF (6 Services)	LF	250	\$16,463.00	\$16,463.00	\$71.00	\$17,750.00	\$39.00	\$9,750.00
C16b.	Service Reconnection	EA	6		1	\$25.00	\$17,750.00	\$106.00	\$636.00
C17	CGA-1 to CG-2, W 25th Ave, 8" Line			\$63,500.00	\$63,500.00		ψ100.00	Ψ100.00	Ψ000.00
517	Total Company of Compa			ψου,ουυ.ου	ψου,ουυ.ου	1	1	1	

DOL NAME.	NIMI CD 2022 CANITADY CEMED IMPROVEMENTS								D TABULATION
PROJ. NAME: DWNER:	NWLSD 2023 SANITARY SEWER IMPROVEMENTS NORTHWEST LAKEWOOD SANITATION DISTRICT							Bid Date: Project No.:	8/22/2023 17.0638.C.10
ENGINEER:	MARTIN/MARTIN, INC.							Project No.: Prep. By:	AG
INGINELIX.	MARTIN/MARTIN, INC.							Chk'd By:	BLT
				MARTIN/MARTIN, IN	vic	INLINER SOLUTIONS	VIC IIC	INSITUFORM TECH	
				12499 W. Colfax Ave		7915 Cherrywood Loc		17988 Edison Avenu	
				Lakewood, Colorado		Kiowa, Colorado 8011		Chesterfield, Missour	
				303.431.6100	30213	303.880.4710		636.530.8000	103000
	Т	$\overline{}$	T	000101.01.0	$\overline{}$	000.000	$\overline{}$	000.000.000	
Bid Item	Description	Unit	t Quantity	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
C17a.	Full Lining - 300 LF (3 Services)	LF	300	1	1	\$71.00	\$21,300.00	\$47.00	\$14,100.00
C17b.	Service Reconnection	EA				\$25.00	\$75.00	\$135.00	\$405.00
C18	BP-1A to BP-1, 8" Line			\$21,720.00	\$21,720.00	00			<u>'</u>
C18a.	Full Lining - 181 LF (2 Services)	LF	181			\$71.00	\$12,851.00	\$63.00	\$11,403.00
C18b.	Service Reconnection	EA	. 2			\$25.00	\$50.00	\$155.00	\$310.00
C19	A-47A-9 to A-47A-8, Paramount Pkwy, 8" Line	,		\$13,637.00	\$13,637.00				, ·
C19a.	Full Lining - 204LF (0 Services)	LF	204			\$71.00	\$14,484.00	\$60.00	\$12,240.00
C19b.	Service Reconnection	EA	. 0			\$25.00	\$0.00	\$0.00	\$0.00
C20	B-10-1 to B-9-1, Vivian Dr, 24" Line			\$51,300.00	\$51,300.00				Ţ
C20a.	Full Lining - 285 LF (3 Services)	LF	285			\$297.00	\$84,645.00	\$282.00	\$80,370.00
C20b.	Service Reconnection	EA	. 3			\$25.00	\$75.00	\$232.00	\$696.00
C21	BF-7 to BF-6, W 34th PI, 12" Line			\$54,000.00	\$54,000.00				
C21a.	Full Lining - 113 LF (3 Services)	LF	_			\$92.00	\$10,396.00	\$134.00	\$15,142.00
C21b.	Service Reconnection	EA	. 3			\$25.00	\$75.00	\$205.00	\$615.00
C22	B-16A-A to B-16A, Wright Ct, 8" Line			\$25,942.00	\$25,942.00				<u>'</u>
C22a.	Full Lining - 399 LF (8 Services)	LF	399			\$71.00	\$28,329.00	\$37.00	\$14,763.00
C22b.	Service Reconnection	EA	. 8			\$25.00	\$200.00	\$102.00	\$816.00
C23	BG-9 to BG-8, Wright St, 8" Line			\$16,031.00	\$16,031.00				Ţ
C23a.	Full Lining - 240 LF (6 Services)	LF	240			\$71.00	\$17,040.00	\$48.00	\$11,520.00
C23b.	Service Reconnection	EA				\$25.00	\$150.00	\$106.00	\$636.00
C24	BF-17 to BF-16A, Clear Creek Dr, 12" Line			\$62,000.00	\$62,000.00	00			<u> </u>
C24a.	Full Lining - 118 LF (0 Services)	LF	118			\$92.00	\$10,856.00	\$134.00	\$15,812.00
C24b.	Service Reconnection	EA				\$25.00	\$0.00	\$0.00	\$0.00
C25	B-13-1 to B-12-1, W 32nd Ave, 18" Line			\$46,440.00	\$46,440.00	· ·			
C25a.	Full Lining - 264 LF (0 Services)	LF	264			\$268.00	\$70,752.00	\$252.00	\$66,528.00
C25b.	Service Reconnection	EA	. 0			\$25.00	\$0.00	\$0.00	\$0.00
C26	B-13 to B-12, W 32nd Ave, 12" Line			\$32,160.00	\$32,160.00				
C26a.	Full Lining - 268 LF (1 Service)	LF	268			\$92.00	\$24,656.00	\$88.00	\$23,584.00
C26b.	Service Reconnection	EA				\$25.00	\$25.00	\$517.00	\$517.00
C27	B-11R-7-2 to B-11R-7-1, W 29th PI, 6" Line			\$60,770.00	\$60,770.00	· ·			
C27a.	Full Lining - 257 LF (1 service)	LF	257			\$61.00	\$15,677.00	\$40.00	\$10,280.00
C27b.	Service Reconnection	EA				\$25.00	\$25.00	\$533.00	\$533.00
C28	BF-14 to BF-15, Easement, 12" Line	,		\$13,680.00	\$13,680.00	· ·	<u> </u>		<u> </u>
C28a.	Full Lining - 114 LF (0 Service)	LF	318			\$92.00	\$29,256.00	\$68.00	\$21,624.00
C28b.	Service Reconnection	EA	0			\$25.00	\$0.00	\$0.00	\$0.00
C28c.	Allowance for Cleaning/Descaling CI Pipe	LS				\$8,500.00	\$8,500.00	\$4,327.00	\$4,327.00
C29	P-8 to P-7, W 15th Dr, 12" Line	,		\$24,317.00	\$24,317.00		1		
C29a.	Full Lining - 374 LF(6 services)	LF	374			\$92.00	\$34,408.00	\$75.00	\$28,050.00
C29b.	Service Reconnection	EA				\$25.00	\$150.00	\$159.00	\$954.00
C30	BS-3 to BS-2A, Easement, 8" Line	,		\$40,561.00	\$40,561.00		1		<u> </u>
C30a.	Full lining - 328 LF (6 services)	LF	328	, ,,	1	\$71.00	\$23,288.00	\$35.00	\$11,480.00
C30b.	Service Reconnection	EA				\$25.00	\$150.00	\$108.00	\$648.00
C31	BF-18-2 to BF-18-1, W 33rd PI, 8" Line		1	\$1,625.00	\$1,625.00		+	*	7
C31a.	Full lining - 25 LF (0 services)	LF	25	+ ·,	•	\$71.00	\$1,775.00	\$280.00	\$7,000.00
C31b.	Service Reconnection	EA				\$25.00	\$0.00	\$0.00	\$0.00
C32	Z-1 to BF-21, Alkire St, 8" Line		1	\$1,606.00	\$1,606.00		40.00	Ψ0.00	# 0.22
C32a.	Full lining - 385 LF (2 services)	LF	385	ψ1,000.00	*	\$71.00	\$27,335.00	\$41.00	\$15,785.00
C32b.	Service Reconnection	EA				\$25.00	\$50.00	\$169.00	\$338.00
C32b.	JB-10 to JB-9, W 23rd Ave, 8" Line		1-	\$18,577.00	\$18,577.00		ψου.σσ	ψ100.00	ψοσο.σσ
C33a.	Full lining - 286 LF (6 services)	LF	286	φ10,077.00	Ψ10,011.00	\$71.00	\$20,306.00	\$37.00	\$10,582.00

								- RI'	D TABULATION
PROJ. NAME:	NWLSD 2023 SANITARY SEWER IMPROVEMENTS							Bid Date:	8/22/2023
OWNER:	NORTHWEST LAKEWOOD SANITATION DISTRICT				-			Project No.:	17.0638.C.10
ENGINEER:	MARTIN/MARTIN, INC.							Prep. By:	AG
	,	-		-			-	Chk'd By:	BLT
				MARTIN/MARTIN, IN	λC.	INLINER SOLUTION		INSITUFORM TECH	HNOLOGIES, LLC
				12499 W. Colfax Ave		7915 Cherrywood Lo		17988 Edison Avenu	
				Lakewood, Colorado		Kiowa, Colorado 801		Chesterfield, Missour	
				303.431.6100		303.880.4710		636.530.8000	
Bid Item	Description	Unit	t Quantity	y Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
C33b.	Service Reconnection	EA	6			\$25.00	\$150.00	\$107.00	\$642.00
C34	ZD-2-1 to ZD-2, W 22nd PI, 8" Line			\$15,028.00	\$15,028.00				
C34a.			·		,	\$71.00	\$16,401.00	\$49.00	\$11,319.00
C34b.		-	_			\$25.00	\$100.00	\$119.00	\$476.00
C35	BOA-6-2 to BOA-6-1, Zinnia Ct, 8" Line	'	1	\$23,010.00	\$23,010.00				
C35a.						\$71.00	\$25,134.00	\$39.00	\$13,806.00
C35b.	<u> </u>					\$25.00	\$150.00	\$108.00	\$648.00
C36	BOB-4 to BOB-3, Willow Wy, 8" Line	'	1	\$11,000.00	\$11,000.00			1.700	
C36a.						\$71.00	\$12,283.00	\$47.00	\$8,131.00
C36b.						\$25.00	\$125.00	\$109.00	\$545.00
C37	BOD-2-2B to BOD-2-2A, Winfield PI, 8" Line		1	\$16,055.00	\$16,055.00		1:77 00	240.00	
C37a.						\$71.00	\$17,537.00	\$40.00	\$9,880.00
C37b.		ı		112 224 22	***************************************	\$25.00	\$75.00	\$133.00	\$399.00
C38	BOD-4-1 to BOD-4, N Arbutus St, 8" Line		1	\$12,331.00	\$12,331.00		2:2:402.00	255.00	2:2:52.00
C38a.						\$71.00	\$13,490.00	\$55.00	\$10,450.00
C38b.		ī		120,000,00	**************************************	\$25.00	\$50.00	\$156.00	\$312.00
C39	BOD-3 to BOD-2, Willow Ln, 8" Line		1	\$22,000.00	\$22,000.00		200 540 00	*27.00	211.071.00
C39a.						\$71.00	\$28,542.00	\$37.00	\$14,874.00
C39b.	The state of the s	ī	1	22.750.00	\$0.750.0°	\$25.00	\$125.00	\$116.00	\$580.00
C40	BO-11 to BO-10, W 16th St, 8" Line		1	\$9,750.00	\$9,750.00		210.050.00	\$72.00	212.000.00
C40a.					-	\$71.00 \$25.00	\$10,650.00	\$72.00	\$10,800.00
C40b. C41	D 04 to D 00 Occarbill Dd 011 Line	1	1	£44,000,00	¢11,000,0	\$25.00	\$25.00	\$227.00	\$227.00
C41 C41a.	B-81 to B-80, Overhill Rd, 8" Line		1	\$11,000.00	\$11,000.00	\$71.00	£42 400 00	\$61.00	£44 500 00
C41a. C41b.						\$71.00	\$13,490.00 \$25.00	\$232.00	\$11,590.00 \$232.00
C41b.	BZ-1A to BZ-1, Easement, 8" Line	Ī	1	\$48,624.00	\$48,624.00		\$20.00	\$232.00	\$232.00
C42 C42a.	BZ-1A to bz-1, casement, o line		1	\$40,024.00	φ40,024.00	\$71.00	\$28,755.00	\$40.00	\$16,200.00
C42a.					<u> </u>	\$25.00	\$28,755.00	\$102.00	\$16,200.00
C42b.	ZD-5-3 to ZD-5-2, W 25th PI, 8" Line	i ,	ı	\$26,740.00	\$26,740.00		φ200.00	φ102.00	φοτο.ου
C43a.	ZD-3-3 to ZD-3-2, ¥4 Zotii i i, o Linc		1	Ψ20,1 το.00	ΨΔΟ,1 10.00,	\$71.00	\$28,187.00	\$33.00	\$13,101.00
C43a.					-	\$25.00	\$150.00	\$109.00	\$13,101.00
C43b.	ZD-3-3 to ZD-3-2, W 23rd PI, 8" Line	1 ,	I	\$9,025.00	\$9,025.00		ψ100.00	ψ100.00	ψου 1.00
C44a.	2D-0-0 to 2D-0-2, 11 2010 1 1, 0 2		4	Ψ0,020.00	ψο,οΞοιο Ι,	\$71.00	\$9,443.00	\$69.00	\$9,177.00
C44a.					+	\$25.00	\$100.00	\$115.00	\$460.00
	Sub-Total C		$\overline{}$	_	\$1,042,064.00		\$962,487.00		\$707,477.00
1		'	1			1		1	
	GRAND TOTAL			+	\$1,319,059.00	+	\$1,459,113.00	+	\$923,564.00
1	GRAND TOTAL	——————————————————————————————————————	1		Ψ1,010,000.00		Ψ1,700,110.00		ψ320,00 -1 .00
1			5% Bid Bond	nd	\$65,952.95	+	\$72,955.65	+	\$46,178.20
			J/0 Dia Do	4	ψου,υσε.σσ		Ψ: Δ,000.00		Ψτο, σ.Σ.